Monday August 1		                  Name ________________
                Check your work!              Final Answer
	1. Mr. and Mrs. Dorsey and their three children are flying to Springfield. The cost of each ticket is $179. Estimate how much the tickets will cost. Then find the exact cost of the tickets. 








	
	1. 



	2. Complete the Sentence:

a. 400 is 10 times as much as _________________



b. 60,000 is    of ______________________
 


	2.

a. 


b. 

	3. The number below represents the number  of fans that attended Chicago Cubs baseball games in 2008. What is this number written in standard form? 
(3 × 1,000,000) + (3 × 100,000) + (2 × 100) 
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	3. 

	4. Estimate. 

a. 503 x 7 = 







	4. Find the product.

a. 503 x 7 =



	5.  Write the number in two other forms.

7,893,203
                               
Word form: _________________________________________________________

_________________________________________________________

_________________________________________________________
	
Expanded form: ____________________________

____________________________________________

____________________________________________

____________________________________________


Tuesday
                Check your work!              Final Answer
	1. A company shipped 48 boxes of canned dog food. Each box contains 24 cans. How many cans of dog food did the company ship in all? 





	
	1.

	2. Ms. Tao flies round trip twice yearly between Jacksonville and Los Angeles on business. The distance between the two cities is 2,150 miles. Estimate the distance she flies for both trips. Then find the exact distance. 







	
	2.

	3. Complete the Sentence:

a. 20 is 10 times as much as _________________


b. 800 is    of ______________________
 


	3.

a. 


b. 

	4. The population of Clarksville is about 6,000 people. What is the population written as a whole number multiplied by a power of ten? 


	4. 

	5. Estimate. 

a. 476 x 72 = 





	5. Find the product.

a. 476 x 72 =




Wednesday
                Check your work!              Final Answer
	1. Ken is making gift bags for a party. He has 64 colored pens and wants to put the same number in each bag. How many bags will Ken make if he puts 4 pens in each bag? 








	
	1. 

	2. Complete the Sentence:

a. 90,000 is 10 times as much as _________________


b. 2,000 is    of ______________________
 


	2.

a. 


b. 

	3. Last month, a manufacturing company shipped 452 boxes of ball bearings. Each box contains 48 ball bearings. How many ball bearings did the company ship last month? 







	3. 

	4. Estimate. 

a. 2,141 x  8 = 






	4. Find the product.

a. 2,141 x  8 =



	5. Write in exponent form and word form.  

a. 10 x 10 x 10 x 10 x 10

Exponent form: _________________________________________

Word form: _____________________________________________

________________________________________________________
	b. Find the value. 

105 = ____________________



(4 x 8) x 102 = _____________________


Thursday
                Check your work!              Final Answer
	1. Write an expression using the Distributive Property that can be used to find the quotient of 36 ÷ 3. 





	1. 

	2. Complete the Sentence:

a. 700 is 10 times as much as _________________


b. 10,000 is    of ______________________
 


	2.

a. 


b. 

	3. Use mental math to complete the pattern.

4 x 8 = _________  

(4 x 8) x 101 = __________

(4 x 8) x 102 = __________

(4 x 8) x 103 = __________

(4 x 8) x 104 = __________

	3. 

_____ x 5 = 55  

(11 x 5) x ________ = 550

(11 x 5) x ________ = 5,500

(11 x 5) x ________ = 55,000

(11 x 5) x ________ = 550, 000


	4.  Write the number in two other forms.

783,005
                               
Word form: _________________________________________________________

_________________________________________________________

_________________________________________________________
	
Expanded form: ____________________________

____________________________________________

____________________________________________

____________________________________________

	5. Stefan plants seeds for 30 carrot plants and  45 beet plants in 5 rows, with the same number of seeds in each row. How many seeds are planted in each row? 









	5. 




